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CLASS (q;g:‘n)_VIII Please check that this question
paper contains 28 questions and 10
SOCIAL SCIENCE printed pages.
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Time Allowed : 3 Hrs. Maximum Marks : 80
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General Instructions :

1. There are 28 questions in all. All questions are compulsory.

2. Marks are indicated against each question.

3.  Write the question numbers as given in the question paper while answering
a question in your answer book.

4. Questions from serial number 1 to 9 contains very short answer questions of
1 mark each.

5.  Questions from serial number 10 to 19 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

6. Questions from serial number 20 to 26 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

7.  Question number 27 and 28 are map questions of 3 marks each from Geography
and History. After completion, attach the maps inside your answer book.

qm= =

. 3999 O A bt 28 T3 &1 Tt we stfrerd €

2. U Y o 3 SHeh @d fRu T €

3. o0 IWgREeRl H IW fored w9 yva o9 # fan Ty € fa

4, Y HEA 1 99 T A o-Sudd U B Wee WA 1 ek @ 2|

5. U HEA 10 W 19 9% YAH YT 3 3Ah H1 21 390 ¥ TAF YT kT SW 80 Vel F A
*1 T B =fET

6. UTT G 20 W 26 T TIE TIA,5 3k AT 21 3TH U YAF YT 1 ST 120 VRl G s
1 &1 BT =MEUl

7. T HEA 27 ¥R 28 Wit 3R e o e el U9 § 991 Ui 3 3 o 71 S faen

o A€ HHfEEl Sl STYRAHT o ST F1Y I

VIlI-Social Science (1)



Which city of India is known as “Manchester of India” ? 1

qRd o &I § YL H C'9Rd &1 AFewl’ #ed o7

Which age group of people are defined as the productive population ? 1
S ¥ Y o o ol i ScRe wHEed % ®9 o uRwfyg fear wmr @2

Write the slogan given by Bal Gangadhar Tilak. 1
o TR foesh g Ry T () ARl fafeg

Write any two major challenges to Indian Democracy at the time of
independence. Vot+Vo=1

@A o GHE ARAE dehdd o guel &1 fRl « ygm@ gAfadl o 9m fateu

Name any two Princely States that joined the Indian Union after a military
action. Vot+lo=1

frl Q1 Tarel & M fafae o yrdE @9 o fao@ d=-9a o AN o 915 g3l?

Which part of the Constitution is called the ‘Soul of the Indian Constitution™?
1

Ifaum & fR9 9 & ‘9RdE dfaue #1 ST’ el STl ©?

Why is the President of India an integral part of Parliament even being not
a member of any of the two houses ? Explain the reason. 1

IR 1 Tgufa GEg 1 A= o o @ wafs 98 <A e W 9 fedt w1 o wew
T 27 FRU e S

Categorize the following cases as Civil Case or Criminal Case : Vot+Vo=1

(a) Dispute over purchase of goods (b) Evasion of Income Tax

o o

freafafad Amel &1 A gheH AYEl STUIfUd Ghawl o &9 H Fifichd ohifsli—
(31) el & @R W faar () AFHT &I =
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9. Write two fundamental rights that protect the distinct culture of the minorities

in India. Vo4lo=1

IRa ¥ TeqHeash] &1 fafite wwhfa &1 9w w6 o & difas el o Tm fafem)

10. Define sustainable development. How is it helpful in the conservation of

resources ? Explain with the help of two examples. 1+2=3

Had-amoit faerrd o aRwifid Sifw) o8 SoeEl o W § 69 YRR SR 872

T IEWN HI HEFdl W A HIfSU

11. Highlight the importance of wildlife on the earth’s surface. Write any two steps

taken by the Government to preserve the wildlife. 142

Jedft W T Sod o Hed I IR HIGU| I Sad o W& o T THR g
3I3M T & & HeA faf@u)

OR (3terar)
Suggest any three measures for the protection of natural vegetation. 3x1=3

Yiehfas oEafd o WU o fau i dF gema e

12. Rajat wants to establish an iron and steel plant in India, which area should he

select for the iron and steel plant and why ? 1+2=3

WA 9Rd § AR-3Ed S9N T©fd I 9Edl @, S9SN 1 TIUAT o fau o A
a8 gH i N

13. “Why in India, the concentration of population is more in plains than in the

mountains” ? Explain any three reasons. 3x1=3
“ard  tddig &= w1 See AeE e § Sden eifue ohfsa & @2 fadl dm

SO hi AR hifeu|
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14. Analyse the impact of the British Revenue System on the Indian society. 3x1=3

TRAE TN W SIS TS YUlelt o 949/ o1 faveiwur shifsg)

15. Explain about the construction and management of the new capital of the
British ‘New Delhi’. 3x1=3
U ) T e e oo’ oF Wi iR weeR o 9R W wrem wifsu)
OR (3teram)

How did the urbanization of Calcutta take place during the British period ?
Explain. 3x1=3

STUSH o IMIAHRICH Hohdl i IEARE fohld THR GIM? ARSIt

16. “If a person does not perform her/his duties, others can not enjoy their rights.”
Support the statement with two arguments.
1+2=3
“Ifg HIE AR ST Hded Ted Rl A al T AN I AR w g@ /I o
hdl'' I TRl B WEHA ¥ HUA H g Hifwul
OR (31ydn)

‘Indian Secularism promotes constitutional values of liberty, equality, justice

and fraternity’. Support the statement with two arguments. 3x1=3

‘R YHfRASA T, T, A SR S o G godi i agen <t @
3 TR HI WA § HUF I gfe Hifeg

17. What is the normal term of Lok Sabha ? State any two conditions that may
change the tenure of Lok Sabha. 1+2=3

ARGy T G wTdkTe fohad ol &1 22 Wt € frafqat fafae st aergs & s
I <A Hehdl B2
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18.

19.

20.

21.

22.

23.

Explain the concept of Public Interest Litigation (PIL). Give any two examples

to prove that it is a boon for the common man. 1+2=3

SHfed wifasT | o AU 2?2 HIE q ISR S YHIvE wifw TR uw sTeH o
fu TF EE B

Mention any three provisions laid down in the Constitution of India to ensure

social equality. 3x1=3
AR Gfau™ o fegl o Yaum 1 3oci@ SIfT S |EifSeh F9Ear i g
FW Tl

Why is conservation of water necessary ? Suggest any three measures to
conserve water. 2+3=5
S WU A SfEvdeh @7 Sl WEl o foly i SuE gEedl

Explain any five differences between the agricultural practices of the developed

and the developing countries. 2V6+2Y6=5
fwfaa oiR famraeier 2ei #1 F01 wskE & €= WE 6 SR o HR

OR (31dn)
Explain any five features of commercial agriculture. 5x1=5

Ao i+ 5= o= fowmaist &1 =men sl

Why were European trading companies attracted to India ? How did the East

India Company gain political and economic control over India ? 2+3=5

T AUR FHAET IRA H AR H= sTwfid gg ofi? T Ifew e 4 fEw yER
IRA W USHIfGR SR enfefe fremm wa feRan?

“The first war of independence failed inspite of the participation of different
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24.

25.

26.

sections of Indian society.” Support the statement with the help of five

arguments. 5x1=5

"R T URE TSR URAE 9uel o fafuy= o &t qrie o 9R ot otawa @i
fF=t o= dl ® TEEal § 3@ wUd &1 gfe Hifvu
When and how was the Civil Disobedience Movement launched by Mahatma

Gandhi ? Why was it called a mass movement ? Write any three reasons.
243=5

el el o g WieME STERl SMIKie i YEIE he IR fRE YR 1 TE? gEeh!
S S A HEl TE? ks diF hRu fafau)

OR (372ram)

Explain the reasons that led to the rise of the Radicals within the Indian
National Congress. 5x1=5

ORI TR HU9 H ©hd 9 o 389 o fou fHaR ®ROi i A2 Shife)

Explain any five key features of the Indian Constitution. 5x1=5
IE Gfaum & el o vgE fowvaiet w5 sren sl

“The Prime Minister is the pivot around whom the entire administration
revolves.” Justify this statement by giving any five powers of the Prime Minister.

5x1=5
“gueEst a9 o 7 feuer =R oI Yol SmER womedt st €1 wumEst w1 fe=l U
vifokmal @1 Soe@ Hieh 39 HYUA HI YR Hifeg|

OR (372ram)
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27.

Explain the three situations when the President of India can use his/her
emergency powers. On whose advice can the President of India declare a state

of emergency? State the position of President of India. 3+1+1=5

YNNG 1 UM AT SAIaehlel Siekdl a1 Suam fh o aRftefaal § ot wehar €2
A HISU Tgufa frdenl Goe ¥ Ut i SO Y Gehdl €7 3§ favg W
aRd oF Useufad i Refa fafe

Three features (A), (B) and (C) are marked on the given political map of the
world. Identify these features with the help of following information and write

their correct names on the line marked on the map. 1x3=3
(A) A region of High rainfall in Africa

(B) A Type of Forest

(C) An Important Cotton textile producing nation

HOR & USHifges W@ "EfEs W ode a-qo (A), (B) 9o (C) Tt T ®) A= f W
oAl o YR W I= YSANU qel 3ok T AW HHfes ¥ i st W fafau)
(A) iRl H aferer o w1 TwH &

(B) =i &1 T &R

(C) TH "Wyl gl FHUS IRH <0

Alternate question for the visually challenged students in lieu of Q. No. 27

27.1 Name the area of low rainfall in Africa.
27.2 Which tree is commonly found in Tropical Deciduous forest ?

27.3 Which is an important iron and steel manufacturing country of Asia ?

TE 27 % WM W had geanya faeniiw o fae dwfers a9

27.1 A®IAT H %9 Iu Al &§F H1 AH @Ry
27.2 IWHTCHHE UM o9 W WEMEd: A W gl U STl @72
27.3 TURET w1 AUl diel SR T SARH W HA G OR?
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28. On the outline political map of India locate and label the following places : 1x3=3
(A) Jharkhand — The state to which Munda tribe belonged.
(B) Jhansi — The place where Rani Lakshmi Bai led the revolt.

(C) Amritsar — The city associated with Jallianwala Bagh Massacre.

ad o fgu U goHifae @ wEfes W fefafea ol o sifed wifsie qen s9 e
T ot ferfEe—-

(A) ¥REE — Hel S fHa 9 9 Gefug B

(B) = — 9% TN W&l W TH awfer 4 fagkw & g fwa

(C) Yo — el s EeR o 91 e g3l TR

Alternative question for visually challenged students in lieu of Q. No. 28
28.1 Name the place where Nana Saheb led the revolt.
28.2 Name the place where the Congress split in 1907.

28.3 Name the place where the Indian National Congress was formed.

YH 28 % M W haw gheanyq fomffal & fau dwfess g
28.1 ¥ T &1 A9 fafey ST a9 gwd 3 fage &1 Aga fEEoem

28.2 39 T w1 AW fafgu Sl 1907 § *W™ w1 fauE gem e

283 39 WM &1 A fafgu el | 9RdE UL FUE I IO gE offl
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